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Test Question    Language:- ENGLISH

1. How might a teacher best engage an adolescent who shows high achievement when challenged and prefers active learning?

 

a. Provide repetitive practice to reinforce learning

b. Implement project-based tasks requiring problem-solving

c. Use abstract theoretical lectures with minimal interaction

d. Assign standard tests to assess memory recall

Answer. b

2. What type of exams typically accompany the Understanding Level of teaching?

 

a. Multiple-choice tests

b. Performance-based assessments

c. Label the diagram task

d. Oral exams and essays

Answer. d

3.   Assertion (A): Experience in teaching can lead to the development of new techniques and improvements in teaching effectiveness.

Reason (R): Experienced teachers are typically more rigid and less likely to adopt new teaching methods.

Choose the correct answer from the following code:

 

a. Both and (R) are true, and (R) is the correct explanation of .



b. Both (A) and (R) are true, but (R) is not the correct explanation of (A).

c. (A) is false,(R) is true.

d. (A) is true, (R) is false.

Answer. d

4.

In the two sets below, Set - I indicates teaching approaches while Set - II indicates their primary characteristics. Match the two sets and indicate
your answer by choosing from the given options:

 

a. a - (ii), b - (iii), c - (iv), d - (i)

b. a - (iv), b - (i), c - (iii), d - (ii)

c. a - (iii), b - (iv), c - (ii), d - (i)

d. a - (i), b - (ii), c - (iv), d - (iii)

Answer. c

5.

Which of the following statements best describes the nature and objectives of ICT-based teaching systems? Indicate your answer by selecting from
the code.

(a) ICT-based systems such as Swayam and MOOCs provide access to a wide range of courses from prestigious universities.

(b) ICT platforms are mainly designed to deliver entertainment content that supplements academic stress relief.

(c) ICT tools work best in elite institutions with advanced labs and facilities only.

(d) Digital textbooks offer multimedia-rich, interactive content to enhance learning.



(e) Most ICT-based tools are used to gamify learning with minimal emphasis on subject content.

(f) ICT-based platforms ensure education is more democratic by allowing access from remote locations.

 

a. 

b. 

c. 

d. 

Answer. a

6.

In the two sets below, Set - I indicates types of validity while Set - II indicates their description. Match the following types of validity with their
correct descriptions:

 

a. A - ii, B - iii, C - iv, D - i

b. A - iv, B - i, C - ii, D - iii

c. A - iii, B - ii, C - i, D - iv

d. A - i, B - iv, C - iii, D - ii

Answer. c

7. Which of the following is the correct sequence of steps in historical research?

 



a. Analyze data and develop a narrative, Evaluate source authenticity, Conduct literature review, Identify idea/topic

b. Identify idea/topic, Conduct literature review, Refine ideas/questions, Evaluate source authenticity, Analyze findings

c. Identify research idea, Conduct literature review, Refine questions, Evaluate sources

d. Refine ideas, Locate sources, Analyze narrative, Conduct a literature review

Answer. b

8. What type of data sources are primarily used in conducting a literature review?

 

a. Primary data sources

b. Secondary data sources

c. Quantitative data sources

d. Experimental data sources

Answer. b

9. When citing an e-journal in APA format, include the Digital Object Identifier (DOI) at the ___ of the citation.

 

a. start

b. middle

c. end

d. in a footnote

Answer. c

10. Which platform offers detailed information from multiple academic sources including papers, authors, and conferences?

 

a. Microsoft Academic Search

b. SSRN

c. DeepDyve



d. Biohunter

Answer. a

D-X)1 ESSAY :

 Read the following passage and answer the questions below:

Despite exemptions on tariffs for certain technology products, gaming consoles manufactured in China such as the upcoming Nintendo Switch 2
might still face significant import duties due to the U.S. trade policy. A report highlights that while some tech products like smartphones and laptops
have been granted a tariff reprieve, gaming consoles remain vulnerable to a potential 145% tariff under current U.S. trade measures. This situation
poses a serious challenge for console makers like Nintendo and Sony, who predominantly manufacture their units in China. The ongoing trade
tensions underscore a complex scenario where even strategic shifts in manufacturing to other countries like Vietnam or Mexico might not
completely circumvent the impact of these hefty tariffs.

11. What underscores the complex scenario faced by console makers?

 

a. Global demand fluctuations

b. U.S.-China trade tensions

c. Technological advancements

d. Consumer preference shifts

Answer. b

12. What implications does the potential 145% tariff have for console manufacturers like Nintendo?

 

a. Increased global sales due to diversified market strategies.

b. Decreased interest in technological innovation.

c. Potential financial strain due to increased costs of importing to the U.S.

d. Expansion into new, untapped markets.

Answer. c

13. How might console makers react to the challenges posed by U.S. tariffs according to the paragraph?

 

a. By discontinuing popular gaming console models.

b. By seeking tariff exemptions for their products.

c. By shifting manufacturing to countries like Vietnam or Mexico.



d. By reducing the retail price of gaming consoles.

Answer. c

14. Which product is specifically mentioned as still vulnerable to high tariffs despite some tech exemptions?

 

a. Gaming consoles

b. Smartphones

c. Laptops

d. Servers

Answer. a

15. Where are consoles primarily manufactured as per the paragraph?

 

a. Mainland China

b. Taiwan and South Korea

c. Germany and Switzerland

d. United States and Mexico

Answer. a

16. Assertion (A): Symbols and infographics can be used in non-verbal communication.

Reason (R): Non-verbal communication only involves vocal cues like tone and pitch.

 

a. Both and (R) are true, but (R) is not the correct explanation of 

b. Both (A) and (R) are true, and (R) is the correct explanation of (A).

c. (A) is true, (R) is false.

d. (A) is false, (R) is true.

Answer. b



17. What is primarily facilitated by the use of ICT in large group instruction in classroom communication?

 

a. Personalized learning plans for each student

b. Immediate behavioral corrections

c. Effective management of dispersed classes

d. Rapid grading of student assignments

Answer. c

18.

In the two sets below, Set - I lists non-verbal communication components, while Set - II provides definitions. Match the following Set - I and Set -
II.

 

a. A-3, B-4, C-1, D-2

b. A-2, B-3, C-4, D-1

c. A-1, B-2, C-3, D-4

d. A-2, B-4, C-1, D-3

Answer. d

19. What does 'semantic noise' specifically refer to in communication barriers?

 

a. Distractions caused by physical barriers such as person or object.

b. Errors in technology used for communication such as mic, software, etc.



c. Psychological disturbances affecting clarity

d. Misinterpretations due to language differences, experience and knowledge

Answer. d

20.

In the two sets below, Set - I lists news agencies, while Set - II provides characteristics. Match the following news agencies with their key
characteristics

  

 

a. A-3, B-1, C-2, D-4

b. A-2, B-3, C-4, D-1

c. A-4, B-2, C-1, D-3

d. A-1, B-4, C-3, D-2

Answer. a

21. Which reasoning is employed when a mathematician uses logical formulas to solve a problem?

 

a. Inductive Reasoning

b. Abductive Reasoning

c. Deductive Reasoning

d. Circular Reasoning

Answer. c



22. In a basket, the number of mangoes to apples is in the ratio 3:2. Which number can represent the total fruits in the basket?

 

a. 12

b. 10

c. 15

d. 14

Answer. b

23. Find the missing term in the series: 5  6, 9  11, ?, 17  21, 21  26

 

a. 13/16

b. 12/15

c. 14/17

d. 11/14

Answer. a

24. If "SOLUTION" is coded as "TPMVUJPO", then how will you code "PROBLEM"?

 

a. QSPCLEM

b. QSPCMFN

c. QSPCMEK

d. QSPCMEJ

Answer. b

25. Find the next term in the series: ZYW, WVT, TSQ, QPN, ___

 

a. NLM



b. MLK

c. OMN

d. NMK

Answer. d

26. Which scenario is an example of deductive reasoning?

 

a. A scientist formulates a hypothesis based on patterns observed in data.

b. A mathematician uses a known formula to calculate the area of a circle.

c. A student assumes the library is always closed on Sundays because it was closed last Sunday.

d. A teacher guesses that a student cheated because they scored higher than usual.

Answer. b

27. If Graphite : Pencil then, Ink : ?

 

a. Notebook

b. Pen

c. Brush

d. Bottle

Answer. b

28. What is the primary purpose of using Venn diagrams in logic?

 

a. To create artistic representations

b. To represent categorical propositions

c. To categorize numerical data

d. To provide a timeline for historical events



Answer. b

29.

Select the Venn diagram that correctly represents the relationship between Teachers, Employees, and Public Servants where all the statements are
fulfilled:

1.All Teachers are employees  2.Some teachers are public servant  3.All public servants are employees

 

a. 

b. 

c. 

d. 

Answer. c



30. Match the diagram that best represents the relationship between Mammals, Dogs, and Golden Retrievers.

 

a. A - 1, B - 2, C - 3, D - 4

b. A - 2, B- 1, C- 4, D - 3

c. A - 3, B - 4, C-1, D - 2

d. A - 4, B - 3, C - 2, D - 1

Answer. b



31. Match the following data sources with their correct descriptions:

 

a. A-3, B-2, C-1

b. A-1, B-3, C-2

c. A-3, B-1, C-2

d. A-1, B-2, C-3

Answer. c

D-X)2 ESSAY :

 Direction : Study the table carefully to answer the questions that follows:  Total sales of the different products in different years:

32. By what percentage did Product E's sales increase from 2016 to 2020?

 

a. 10%



b. 14%

c. 15%

d. 13%

Answer. d

33. Analyzing the provided data, determine the ratio of the total sales of Product B in 2020 to those in 2016.

 

a. 1 : 1

b. 8 : 7

c. 10 : 9

d. 11 : 10

Answer. b

34. What is the average annual sales increase for Product C from 2016 to 2020?

 

a. 8

b. 12

c. 10

d. 15

Answer. c

35. Direction : Study the graph carefully to answer the question that follows:



What was the average production of Product A approx. from 2017-18 to 2022-23?

 

a. 30.5 thousand units

b. 28.4 thousand units

c. 45.3 thousand units

d. 38.7 thousand units

Answer. a

36. Which of the following abbreviations is correctly matched with both its full form and its domain?

 

a. CEH – Certified Ethical Hacking

b. CMD – Control Memory Data

c. AGP – Advanced Gateway Protocol

d. CCNA – Cloud Certified Network Assistant

Answer. a

37. What does the 'https' in a URL primarily indicate?

 

a. A static HTML page

b. A secure connection using encryption

c. A programming language used

d. A file format used in the browser

Answer. b

38. Assertion (A): IMAP is preferred over POP for users who access their email from multiple devices.

Reason (R): IMAP does not allow users to download emails, maintaining data exclusively on the server.

 

a. Both (A) and (R) are true, and (R) is the correct explanation of (A).



b. Both (A) and (R) are true, but (R) is not the correct explanation of (A).

c. (A) is true, (R) is false.

d. (A) is false, (R) is true.

Answer. b

39. Which platform developed by MHRD aids in the virtual storage of educational resources including books and videos?

 

a. Shaala Siddhi

b. E-Shodh Sindhu

c. National Digital Library

d. Swayam Prabha

Answer. c

40. Assertion (A): Shaala Siddhi is developed to evaluate performance standards of schools across India.

Reason (R): It uses a digital framework to ensure standardized assessment nationwide.

 

a. Both (A) and (R) are true, and (R) is the correct explanation of (A).

b. Both (A) and (R) are true, but (R) is not the correct explanation of (A).

c. (A) is true, but (R) is false.

d. (A) is false, but (R) is true.

Answer. a

41. Considering SDG 2 (Zero Hunger), what role does agricultural sustainability play in achieving food security in India?

 

a. Agricultural sustainability encourages heavy use of chemical fertilizers to boost immediate yields.

b. Agricultural sustainability reduces environmental risks while ensuring consistent food production.

c. Agricultural sustainability promotes exclusive cash crop farming to increase farmer income.



d. Agricultural sustainability focuses on producing only high-yield hybrid varieties across all regions.

Answer. b

42.

How should schools integrate environmental education to effectively teach students about anthropogenic impacts and sustainability, considering the
diverse socioeconomic backgrounds of students across India?

 

a. Focus on theoretical knowledge related to sustainability

b. Organize field trips for practical knowledge with classroom learning

c. Promote advanced scientific research

d. Standardize one strict curriculum for all regions

Answer. b

43. Assertion (A): Noise pollution can cause hearing loss and stress-related illnesses.

Reason (R): Noise affects the auditory system and also triggers psychological responses.

 

a. Both (A) and (R) are true, and (R) is the correct explanation of (A).

b. Both (A) and (R) are true, but (R) is not the correct explanation of (A).

c. (A) is true, but (R) is false

d. (A) is false, but (R) is true

Answer. a

44. Match the gas with an activity that increases its concentration:

 

a. A-1, B-2, C-3, D-4



b. A-3, B-1, C-4, D-2

c. A-4, B-1, C-2, D-3

d. A-3, B-4, C-2, D-1

Answer. d

45. Which of the following gases is present in the highest percentage in biogas?

 

a. Methane

b. Carbon dioxide

c. Hydrogen sulphide

d. Sulfur

Answer. a

46. The ancient university of Valabhi was established as a rival to which other famous educational centre?

 

a. Nalanda

b. Vikramshila

c. Taxila

d. Mithila

Answer. a

47. Which commission is noted for its significant contributions toward the restructuring and enhancement of secondary education within India?

 

a. Radhakrishnan Commission

b. Mudaliar Commission

c. Kothari Commission

d. National Policy on Education



Answer. b

48. Assertion (A): Students in the Gurukula system were transformed into individuals of good character upon completion of their education.

Reason (R): The system included rigorous moral and ethical teachings as a core part of the curriculum.

 

a. Both and (R) are true, and (R) is the correct explanation of .

b. Both (A) and (R) are true, but (R) is not the correct explanation of (A).

c. (A) is true, but (R) is false.

d. (A) is false, but (R) is true.

Answer. a

49. What was the main educational focus of the ancient university of Somapura, according to historical records?

 

a. Medical Sciences

b. Religious Studies

c. Trade and Economics

d. Political Science

Answer. b

50. Match the educational organization (Set I) to its primary function (Set II).



 

a. A-2, B-1, C-4, D-3

b. A-3, B-1, C-4, D-2

c. A-3, B-4, C-1, D-2

d. A-4, B-3, C-2, D-1

Answer. b

Test Question    Language:- REGIONAL

1. आव्हान असताना उच्च कामिगरी दाखवणाऱ्या आिण सिक्रय िशक्षणाला प्राधान्य देणाऱ्या िकशोरवयीन मुलाशी िशक्षक कसा उत्तम प्रकारे संवाद साधू शकतो?

 

a. िशक्षणाला बळकटी दे�ासाठी पुनरावृत्ती सराव प्रदान करुन

b. सम�ा सोडव�ाची आवश्यकता असले�ा प्रकल्प-आधा�रत काया�ची अंमलबजावणी करुन

c. कमीत कमी संवादासह अमूत� सैद्धांितक व्याख्याने वापरुन

d. सृ्मती स्मरणशक्तीचे मू�ांकन कर�ासाठी मानक चाच�ा िनयुक्त करुन

Answer. b

2. अध्यापना�ा आकलन पातळीसोबत सामान्यतः  कोणत्या प्रकार�ा परीक्षा घेत�ा जातात?

 

a. बहुपया�यी चाच�ा

b. कामिगरी-आधा�रत मू�ांकन

c. आकृती काया�चे लेबल लावा

d. तोडंी परीक्षा आिण िनबंध

Answer. d

3. प्रितपादन (A): अध्यापनातील अनुभवामुळे नवीन तंते्र िवकिसत होऊ शकतात आिण अध्यापना�ा प�रणामकारकतेत सुधारणा होऊ शकते.

कारण (R): अनुभवी िशक्षक सामान्यतः  अिधक कठोर असतात आिण नवीन अध्यापन पद्धती स्वीकार�ाची शक्यता कमी असते.

खालील कोडमधून योग्य उत्तर िनवडा:

 



a. (A) आिण (R) दो�ी खरे आहेत आिण (R) हे (A) चे योग्य स्पष्टीकरण आहे.

b. (A) आिण (R) दो�ी खरे आहेत, परंतु (R) हे (A) चे योग्य स्पष्टीकरण नाही.

c. (A) चुकीचे आहे, (R) खरे आहे.

d. (A) खरे आहे, (R) चुकीचे आहे.

Answer. d

4.

खालील दोन संचांमधे्य, संच - I हा अध्यापन पद्धती दश�िवतो तर संच - II हा त्यांची प्राथिमक वैिशष्�े दश�िवतो. दो�ी संच जुळवा आिण िदले�ा पया�यांमधून िनवड
करून तुमचे उत्तर दश�वा:

 

a. a - (ii), b - (iii), c - (iv), d - (i)

b. a - (iv), b - (i), c - (iii), d - (ii)

c. a - (iii), b - (iv), c - (ii), d - (i)

d. a - (i), b - (ii), c - (iv), d - (iii)

Answer. c

5. खालीलपैकी कोणते िवधान आयसीटी-आधा�रत िशक्षण प्रणालीचें स्वरूप आिण उिद्दषे्ट सव�त्तम प्रकारे वण�न करते? कोडमधून िनवडून तुमचे उत्तर दश�वा.

(a)स्वयंम आिण एमओओसी सारख्या आयसीटी-आधा�रत प्रणाली प्रितिष्ठत िवद्यापीठांमधून िवसृ्तत शे्रणीतील अ�ासक्रमांमधे्य प्रवेश प्रदान करतात.



(b)आयसीटी �ॅटफॉम� प्रामुख्याने शैक्षिणक ताणतणावाला पूरक अशी मनोरंजन सामग्री दे�ासाठी िडझाइन केलेले आहेत.

(c)आयसीटी साधने केवळ प्रगत प्रयोगशाळा आिण सुिवधा असले�ा उच्च�ू संस्थांमधे्य सव�त्तम काय� करतात.

(d)िडिजटल पाठ्यपुस्तके िशक्षण वाढिव�ासाठी म�ीमीिडया-समृद्ध, परस्परसंवादी सामग्री देतात.

(e)बहुतेक आयसीटी-आधा�रत साधने िवषय सामग्रीवर कमीत कमी भर देऊन िशक्षणाचे गेिमफाय कर�ासाठी वापरली जातात.

(f)आयसीटी-आधा�रत �ॅटफॉम� दुग�म िठकाणांहून प्रवेश देऊन िशक्षण अिधक लोकशाही आहे याची खात्री करतात.

 

a. (a), (d), आिण (f)

b. (b), (c), आिण (e)

c. (a), (b), आिण (d)

d. (c), (d), आिण (f)

Answer. a

6. खालील दोन संचांमधे्य, संच - I वैधतेचे प्रकार दश�िवतो तर संच - II त्यांचे वण�न दश�िवतो. खालील वैधतेचे प्रकार त्यां�ा योग्य वण�नांशी जुळवा:

 

a. A - ii, B - iii, C - iv, D - i

b. A - iv, B - i, C - ii, D - iii

c. A - iii, B - ii, C - i, D - iv



d. A - i, B - iv, C - iii, D - ii

Answer. c

7. ऐितहािसक संशोधनातील खालीलपैकी कोणत्या पायऱ्यांचा क्रम योग्य आहे?

 

a. डेटाचे िव�ेषण करा आिण कथा िवकिसत करा, �ोताची सत्यता मू�ांकन करा, सािहत्य पुनरावलोकन करा, कल्पना/िवषय ओळखा

b. कल्पना/िवषय ओळखा, सािहत्य पुनरावलोकन करा, कल्पना/प्रश्न प�रषृ्कत करा, �ोताची सत्यता मू�ांकन करा, िनष्कषा�चे िव�ेषण करा

c. संशोधन कल्पना ओळखा, सािहत्य पुनरावलोकन करा, प्रश्न प�रषृ्कत करा, �ोतांचे मू�ांकन करा

d. कल्पना प�रषृ्कत करा, �ोत शोधा, कथनाचे िव�ेषण करा, सािहत्य पुनरावलोकन करा

Answer. b

8. सािहत्य पुनरावलोकन आयोिजत कर�ासाठी प्रामुख्याने कोणत्या प्रकारचे डेटा �ोत वापरले जातात?

 

a. प्राथिमक डेटा �ोत

b. दुय्यम डेटा �ोत

c. प�रमाणात्मक डेटा �ोत

d. प्रायोिगक डेटा �ोत

Answer. b

9. ए.पी.ए स्वरूपात ई-जन�ल उद्धृत करताना, उद्धरणा�ा _____ िडिजटल ऑ�ेक्ट आयड��िटफायर (DOI) समािवष्ट करा.

 

a. सुरुवाितला 

b. मध्यभागी

c. शेविट

d. तळटीपमधे्य

Answer. c

10. कोणता �ॅटफॉम� पेपस�, लेखक आिण प�रषदांसह अनेक शैक्षिणक �ोतांमधून तपशीलवार मािहती देतो?



 

a. मायक्रोसॉफ्ट शैक्षिणक शोध

b. एस.एस.आर.एन

c. डीपडायव्ह

d. बायोहंटर

Answer. a

D-X)1 ESSAY :

 खालील उतारा वाचा आिण खालील प्र�ांची उत्तरे �ा:

काही तंत्रज्ञान उत्पादनांसाठी शुल्कात सूट असूनही, आगामी िन�े�ो �स्वच 2 सारख्या चीनमधे्य उत्पािदत गेिमंग कन्सोलना अमे�रके�ा व्यापार धोरणामुळे
अजूनही मोठ्या आयात शुल्काचा सामना करावा लागू शकतो. एका अहवालात असे िदसून आले आहे की स्माट�फोन आिण लॅपटॉप सारख्या काही तंत्रज्ञान
उत्पादनांना शुल्क सवलत दे�ात आली असली तरी, सध्या�ा अमे�रके�ा व्यापार उपायांनुसार गेिमंग कन्सोल 145% शुल्का�ा संभाव्यतेला बळी पडतात. ही
प�र�स्थती िन�े�ो आिण सोनी सारख्या कन्सोल उत्पादकांसाठी एक गंभीर आव्हान आहे, जे प्रामुख्याने चीनमधे्य त्यांचे युिनट तयार करतात. चालू व्यापार तणाव
एका जिटल प�र�स्थतीला अधोरे�खत करतो िजथे �व्हएतनाम िकंवा मे�क्सकोसारख्या इतर देशांमधे्य उत्पादनात धोरणात्मक बदल देखील या मोठ्या शुल्का�ा
प�रणामाला पूण�पणे टाळू शकत नाहीत.

11. कन्सोल िनमा�त्यांसमोरील गंुतागंुती�ा प�र�स्थतीवर काय भर पाडतो?

 

a. जागितक मागणीतील चढउतार

b. अमे�रका-चीन व्यापार तणाव

c. तांित्रक प्रगती

d. ग्राहकां�ा पसंतीमंधे्य बदल

Answer. b

12. िन��डो सारख्या कन्सोल उत्पादकांसाठी 145% कर आकारणीचा काय प�रणाम होईल?

 

a. िविवध बाजारपेठेतील धोरणांमुळे जागितक िवक्रीत वाढ.

b. तांित्रक नवोपक्रमात रस कमी.

c. अमे�रकेत आयात कर�ा�ा वाढत्या खचा�मुळे संभाव्य आिथ�क ताण.

d. नवीन, न वापरले�ा बाजारपेठांमधे्य िवस्तार.

Answer. c



13. प�र�ेदानुसार अमे�रके�ा टॅ�रफमुळे िनमा�ण होणाऱ्या आव्हानांना कन्सोल उत्पादक कशी प्रितिक्रया देऊ शकतात?

 

a. लोकिप्रय गेिमंग कन्सोल मॉडेल्स बंद करून.

b. त्यां�ा उत्पादनांसाठी टॅ�रफ सूट मागून.

c. �व्हएतनाम िकंवा मे�क्सकोसारख्या देशांमधे्य उत्पादन हलवून.

d. गेिमंग कन्सोलची िकरकोळ िकंमत कमी करून.

Answer. c

14. काही तंत्रज्ञान सवलती असूनही कोणत्या उत्पादनावर उच्च दरांचा धोका अस�ाचे िवशेषतः  नमूद केले आहे?

 

a. गेिमंग कन्सोल

b. स्माट�फोन

c. लॅपटॉप

d. सव्ह�र

Answer. a

15. प�र�ेदानुसार कन्सोल प्रामुख्याने कुठे बनवले जातात?

 

a. मुख्य भूप्रदेश चीन

b. ताइवान  आिण दिक्षण को�रया

c. जम�नी आिण �स्वत्झल�ड

d. युनायटेड �ेट्स आिण मे�क्सको   

Answer. a

16. प्रितपादन (A): अशा��क संपे्रषणात िच�े आिण इ�ोग्रािफक्सचा वापर केला जाऊ शकतो.

कारण (R): अशा��क संपे्रषणात फक्त स्वर संकेत ज़से ध्वनी आिण ध्विन स्वरमान असतात.

 



a. (A) आिण (R) दो�ी खरे आहेत, परंतु (R) हे  चे योग्य स्पष्टीकरण नाही.

b. (A) आिण (R) दो�ी खरे आहेत, आिण (R) हे (A) चे योग्य स्पष्टीकरण आहे.

c. (A) खरे आहे, (R) चुकीचे आहे.

d. (A) चुकीचे आहे, (R) खरे आहे.

Answer. b

17. वगा�तील संवादात मोठ्या गटातील सूचनांमधे्य आयसीटीचा वापर प्रामुख्याने कशासाठी सुलभ होतो?

 

a. प्रते्यक िवद्या�ा�साठी वैय�क्तकृत िशक्षण योजना

b. ता�ाळ वत�णुकीत सुधारणा

c. िवखुरले�ा वगा�चे प्रभावी व्यवस्थापन

d. िवद्या�ा��ा असाइनम�टचे जलद गे्रिडंग

Answer. c

18.

खालील दोन संचांमधे्य, संच - I मधे्य अशा��क संपे्रषण घटकांची यादी िदली आहे, तर संच- II मधे्य व्याख्या िद�ा आहेत. खालील संच - I आिण संच - II जुळवा.

 

a. A-3, B-4, C-1, D-2

b. A-2, B-3, C-4, D-1



c. A-1, B-2, C-3, D-4

d. A-2, B-4, C-1, D-3

Answer. d

19. संवादातील अडथ�ांमधे्य 'अथ�पूण� आवाज' म्हणजे काय?

 

a. व्यक्ती िकंवा वसू्तसारख्या भौितक अडथ�ांमुळे होणारे िवचलन.

b. माइक, सॉफ्टवेअर इत्यादी संवादासाठी वापर�ा जाणाऱ्या तंत्रज्ञानातील तु्रटी.

c. स्पष्टतेवर प�रणाम करणारे मानिसक अडथळे

d. भाषेतील फरक, अनुभव आिण ज्ञानामुळे चुकीचे अथ� लावणे

Answer. d

20.

खालील दोन संचांमधे्य, संच - I मधे्य वृत्तसंस्थांची यादी िदली आहे, तर संच - II मधे्य वैिशष्�े िदली आहेत. खालील वृत्तसंस्थांची त्यां�ा प्रमुख वैिशष्�ांशी जुळणी
करा:

 

a. A-3, B-1, C-2, D-4

b. A-2, B-3, C-4, D-1

c. A-4, B-2, C-1, D-3



d. A-1, B-4, C-3, D-2

Answer. a

21. गिणतज्ञ जेव्हा सम�ा सोडव�ासाठी तािक� क सूते्र वापरतो तेव्हा कोणत्या तक� शास्त्राचा वापर केला जातो?

 

a. पे्ररक तक� शास्त्र

b. अपहरण तक� शास्त्र

c. िनगमन तक� शास्त्र

d. वतु�ळाकार तक� शास्त्र

Answer. c

22. एका टोपलीत, आं�ांची संख्या सफरचंदांशी 3:2 या प्रमाणात असते. टोपलीत एकूण फळे कोणती संख्या दश�वू शकते?

 

a. 12

b. 10

c. 15

d. 14

Answer. b

23. मािलकेतील गहाळ पद शोधा: 5  6, 9  11, ?, 17  21, 21  26

 

a. 13/16

b. 12/15

c. 14/17

d. 11/14

Answer. a

24. जर "SOLUTION" ला "TPMVUJPO" असे कोड केले असेल, तर तुम्ही "PROBLEM" कसे कोड कराल?



 

a. QSPCLEM

b. QSPCMFN

c. QSPCMEK

d. QSPCMEJ

Answer. b

25. मािलकेतील पुढील पद शोधा: ZYW, WVT, TSQ, QPN, ___

 

a. NLM

b. MLK

c. OMN

d. NMK

Answer. d

26. िनगमनात्मक तका�चे उदाहरण कोणते आहे?

 

a. एक शास्त्रज्ञ डेटामधे्य आढळले�ा नमुन्यांवर आधा�रत एक गृहीतक तयार करतो.

b. एक गिणतज्ञ वतु�ळाचे के्षत्रफळ मोज�ासाठी एक ज्ञात सूत्र वापरतो.

c. एक िवद्याथ� असे गृहीत धरतो की लायब्ररी दर  रिववारी बंद असते कारण ती गे�ा रिववारी बंद होती.

d. एका िशक्षकाला अंदाज आहे की एका िवद्या�ा�ने नेहमीपेक्षा जास्त गुण िमळवले म्हणजे त्याने फसवणूक केली आहे.

Answer. b

27. जर गे्रफाइट : पे�न्सल तर, शाई : ?

 

a. पुस्तक 

b. पेन



c. ब्रश

d. बाटली

Answer. b

28. तक� शास्त्रात वेन आकृत्या वापर�ाचा प्राथिमक उदे्दश काय आहे?

 

a. कलात्मक प्रितिनिधत्व तयार करणे

b. स्पष्ट प्रस्तावांचे प्रितिनिधत्व करणे

c. संख्यात्मक डेटाचे वग�करण करणे

d. ऐितहािसक घटनांसाठी कालक्रम प्रदान करणे

Answer. b

29. िशक्षक, कम�चारी आिण सरकारी कम�चारी यां�ातील संबंध योग्य�रत्या दश�िवणारी वे्हन आकृती िनवडा िजथे सव� िवधाने पूण� होतात:

1. सव� िशक्षक कम�चारी असतात.  2. काही िशक्षक सरकारी कम�चारी असतात.  3. सव� सरकारी कम�चारी कम�चारी असतात.

 

a. 

b. 

c. 



d. 

Answer. c

30. सस्तन प्राणी, कुते्र आिण गोल्डन �रट� ीव्हर यां�ातील संबंध सव�त्तम दश�िवणारा आकृती जुळवा.

 

a. A - 1, B - 2, C - 3, D - 4

b. A - 2, B- 1, C- 4, D - 3

c. A - 3, B - 4, C-1, D - 2

d. A - 4, B - 3, C - 2, D - 1



Answer. b

31. खालील डेटा �ोतांची त्यां�ा योग्य वण�नांशी जुळणी करा:

 

a. A-3, B-2, C-1

b. A-1, B-3, C-2

c. A-3, B-1, C-2

d. A-1, B-2, C-3

Answer. c

D-X)2 ESSAY :

 िदशा : खालील प्रश्णांिच उत्तरे दे�ासाठी सारणीचा काळजीपूव�क अ�ास करा:  वेगवेग�ा वषा�त वेगवेग�ा उत्पादनांची एकूण िवक्री:



32. 2016 ते 2020 पय�त उत्पादन E �ा िवक्रीत िकती ट�े वाढ झाली?

 

a. 10%

b. 14%

c. 15%

d. 13%

Answer. d

33. िदले�ा डेटाचे िव�ेषण करून, 2020 मधे्य उत्पादन B �ा एकूण िवक्रीचे 2016 मधील िवक्रीशी गुणोत्तर िनि�त करा.

 

a. 1 : 1

b. 8 : 7

c. 10 : 9

d. 11 : 10

Answer. b



34. 2016 ते 2020 पय�त उत्पादन C साठी सरासरी वािष�क िवक्री वाढ िकती आहे?

 

a. 8

b. 12

c. 10

d. 15

Answer. c

35. िदशा : पुढील प्रश्णांिच उत्तर दे�ासाठी आलेख काळजीपूव�क अ�ासा:

2017-18 ते 2022-23 पय�त उत्पादन अ चे सरासरी उत्पादन िकती होते?

 

a. 30.5 हजार युिनट्स

b. 28.4 हजार युिनट्स

c. 45.3 हजार युिनट्स

d. 38.7 हजार युिनट्स

Answer. a

36. खालीलपैकी कोणते संके्षप त्या�ा पूण� स्वरूपाशी आिण त्या�ा डोमेनशी योग्य�रत्या जुळतात?

 



a. सी.ई.एच - सिट�फ़ाइड एिथकल हॅिकंग

b. सी.एम.डी - कंट� ोल मेमो�र डेटा

c. ए.जी.पी - एड्वान्सड् गेटवे प्रोटोकॉल

d. सी.सी.एन.ए - �ाउड सिट�फ़ाइड नेटवक�  अिस�ंट

Answer. a

37. URL मधील 'https' प्रामुख्याने काय दश�वते?

 

a. �स्थर HTML पृष्ठ

b. ए��क्रप्शन वापरून सुरिक्षत कनेक्शन

c. वापरलेली प्रोग्रािमंग भाषा

d. ब्राउझरमधे्य वापरलेले फाइल स्वरूप

Answer. b

38. प्रितपादन (A): अनेक उपकरणांमधून त्यांचे ईमेल अके्सस करणाऱ्या वापरकत्या�साठी POP पेक्षा IMAP ला प्राधान्य िदले जाते.

कारण (R): IMAP वापरकत्या�ना ईमेल डाउनलोड कर�ाची परवानगी देत   नाही, सव्ह�रवर डेटा पूण�पणे ठेवतो.

 

a. (A) आिण (R) दो�ी खरे आहेत आिण (R) हे (A) चे योग्य स्पष्टीकरण आहे.

b. (A) आिण (R) दो�ी खरे आहेत, परंतु (R) हे (A) चे योग्य स्पष्टीकरण नाही.

c. (A) खरे आहे, (R) खोटे आहे.

d. (A) खोटे आहे, (R) खरे आहे.

Answer. b

39. मानव संसाधन िवकास मंत्रालयाने िवकिसत केलेले कोणते व्यासपीठ पुस्तके आिण �व्हिडओसंह शैक्षिणक संसाधनां�ा आभासी संचयनास मदत करते?

 

a. शाला िसद्धी

b. ई-शोध िसंधू



c. राष्ट� ीय िडिजटल गं्रथालय

d. स्वयंप्रभा

Answer. c

40. प्रितपादन (A): शाळा िसद्धी ही संपूण� भारतातील शाळां�ा कामिगरी�ा दजा�चे मू�ांकन कर�ासाठी िवकिसत केली आहे.

कारण (R): देशभरात प्रमािणत मू�ांकन सुिनि�त कर�ासाठी ते िडिजटल �ेमवक�  वापरतात .

 

a. (A) आिण (R) दो�ी खरे आहेत आिण (R) हे  चे योग्य स्पष्टीकरण आहे.

b. (A) आिण (R) दो�ी खरे आहेत, परंतु (R) हे (A) चे योग्य स्पष्टीकरण नाही.

c. (A) खरे आहे, परंतु (R) खोटे आहे.

d. (A) खोटे आहे, परंतु (R) खरे आहे.

Answer. a

41. एस.डी.जी 2 (शून्य भूक) लक्षात घेता, भारतातील अन्न सुरक्षा साध्य कर�ात कृषी शाश्वतता कोणती भूिमका बजावते?

 

a. कृषी शाश्वतता ता�ाळ उत्पादन वाढव�ासाठी रासायिनक खतांचा मोठ्या प्रमाणात वापर कर�ास प्रो�ाहन देते.

b. कृषी शाश्वतता सातत्यपूण� अन्न उत्पादन सुिनि�त करताना पया�वरणीय जोखीम कमी करते.

c. कृषी शाश्वतता शेतकऱ्यांचे उत्पन्न वाढव�ासाठी िवशेष नगदी िपकां�ा शेतीला प्रो�ाहन देते.

d. कृषी शाश्वतता सव� प्रदेशांमधे्य फक्त उच्च-उत्पादन देणाऱ्या संक�रत जातीचें उत्पादन कर�ावर लक्ष क� �िद्रत करते.

Answer. b

42.

भारतातील िवद्या�ा��ा िविवध सामािजक-आिथ�क पाश्व�भूमी लक्षात घेता, शाळांनी पया�वरणीय िशक्षणाचे एकत्रीकरण कसे करावे जेणेकरून िवद्या�ा�ना मानववंशीय
प�रणाम आिण शाश्वततेबद्दल प्रभावीपणे िशकवता येईल?

 

a. शाश्वततेशी संबंिधत सैद्धांितक ज्ञानावर लक्ष क� �िद्रत करावे

b. वग� िशक्षणासह व्यावहा�रक ज्ञानासाठी के्षत्र सहली आयोिजत करावे

c. प्रगत वैज्ञािनक संशोधनाला प्रो�ाहन द्यावे



d. सव� प्रदेशांसाठी एकच कठोर अ�ासक्रम प्रमािणत करावे

Answer. b

43. प्रितपादन (A): ध्वनी प्रदूषणामुळे श्रवणशक्ती कमी होणे आिण ताण-संबंिधत आजार होऊ शकतात.

कारण (R): ध्वनी श्रवणसंस्थेवर प�रणाम करते आिण मानिसक प्रितिक्रया देखील िनमा�ण करते.

 

a. (A) आिण (R) दो�ी खरे आहेत आिण (R) हे  चे योग्य स्पष्टीकरण आहे

b. (A) आिण (R) दो�ी खरे आहेत, परंतु (R) हे (A) चे योग्य स्पष्टीकरण नाही.

c. (A) खरे आहे, परंतु (R) चुकीचे आहे

d. (A) चुकीचे आहे, परंतु (R) खरे आहे

Answer. a

44. वायूची एकाग्रता वाढवणाऱ्या िक्रयेशी जुळवा:

 

a. A-1, B-2, C-3, D-4

b. A-3, B-1, C-4, D-2

c. A-4, B-1, C-2, D-3

d. A-3, B-4, C-2, D-1

Answer. d

45. बायोगॅसमधे्य खालीलपैकी कोणत्या वायूचे प्रमाण सवा�िधक असते?

 



a. िमथेन

b. काब�न डायऑक्साइड

c. हायड� ोजन सल्फाइड

d. सल्फर

Answer. a

46. वल्लभीचे प्राचीन िवद्यापीठ कोणत्या प्रिसद्ध शैक्षिणक क� द्रा�ा प्रितस्पध� म्हणून स्थापन झाले होते?

 

a. नालंदा

b. िवक्रमिशला

c. तक्षशीला

d. िमिथला

Answer. a

47. भारतातील माध्यिमक िशक्षणाची पुनर�चना आिण वाढ कर�ात महत्त्वपूण� योगदान दे�ासाठी कोणता आयोग प्रिसद्ध आहे?

 

a. राधाकृष्णन आयोग

b. मुदिलयार आयोग

c. कोठारी आयोग

d. राष्ट� ीय िशक्षण धोरण

Answer. b

48. प्रितपादन (A): गुरुकुल पद्धतीतील िवद्याथ� त्यांचे िशक्षण पूण� झा�ावर चांग�ा चा�र�ा�ा व्यक्तीमंधे्य रूपांत�रत होत असत.

कारण (R): या प्रणालीमधे्य अ�ासक्रमाचा मुख्य भाग म्हणून कठोर नैितक आिण नैितक िशकवणीचंा समावेश होता.

 

a. (A) आिण (R) दो�ी खरे आहेत आिण (R) हे  चे योग्य स्पष्टीकरण आहे.

b. (A) आिण (R) दो�ी खरे आहेत, परंतु (R) हे (A) चे योग्य स्पष्टीकरण नाही.



c. (A) खरे आहे, परंतु (R) खोटे आहे.

d. (A) खोटे आहे, परंतु (R) खरे आहे.

Answer. a

49. ऐितहािसक नोदंीनुंसार, प्राचीन सोमपुरा िवद्यापीठाचे मुख्य शैक्षिणक क� द्रस्थान काय होते?

 

a. वैद्यकीय िवज्ञान

b. धािम�क अ�ास

c. व्यापार आिण अथ�शास्त्र

d. राज्यशास्त्र

Answer. b

50. शैक्षिणक संस्था (सेट I) ित�ा प्राथिमक काया�शी (सेट II) जुळवा.

 

a. A-2, B-1, C-4, D-3

b. A-3, B-1, C-4, D-2

c. A-3, B-4, C-1, D-2



d. A-4, B-3, C-2, D-1

Answer. b

Test Answer

1. (b) 2. (d) 3. (d) 4. (c) 5. (a) 6. (c) 7. (b) 8. (b) 9. (c) 10. (a)

11. (b) 12. (c) 13. (c) 14. (a) 15. (a) 16. (b) 17. (c) 18. (d) 19. (d) 20. (a)

21. (c) 22. (b) 23. (a) 24. (b) 25. (d) 26. (b) 27. (b) 28. (b) 29. (c) 30. (b)

31. (c) 32. (d) 33. (b) 34. (c) 35. (a) 36. (a) 37. (b) 38. (b) 39. (c) 40. (a)

41. (b) 42. (b) 43. (a) 44. (d) 45. (a) 46. (a) 47. (b) 48. (a) 49. (b) 50. (b)


